PTYRAMID A

082400 BMW R1200/1250GS Spray Guard Extension

Kit Includes:

1X C082400 Moulding

2X CBOLM40004 M4 X 16mm Bolt

2X CWASM40001 M4 Washer

2X CNUTM40001 M4 Anchor Nut

4X CBUMOO3 Rubber Pad

1X CGRAOO1 Spray Suppression 265mm X 45mm

This product will require you to drill two holes in the original BMW
guard to provide a reliable mechanical fixing.

® Remove the original BMW Spray Guard from its mounting point on the end of the Swinging Arm. Unscrew the 3 bolts
holding it in place.

® The two pre-installed M4 Anchor Nut fasteners provide an accurate drilling 'jig’' whilst drilling the holes for fixing.

® Please note, as shown in this picture of the installed Pyramid part, that the longer guard extension element is located
at the lower end of the original BMW spray guard. You should start working from this lower fixing point.

® Position the Pyramid spray guard cenftrally. Using a 3mm drill-bit, drill through the threaded insert in the M4 Anchor Nut
fastener. Open up the hole in the BMW original with a 5mm drill. Repeat this step at the other mounting point.

® Finally attach the Pyramid spray guard extension to the BMW original using the M4 x 16mm bolts and M4 washers -
then re-install the complete unit on the bike.

Any questions?
sales@pyramid-plastics.co.uk

+44 (0)1427 677990
www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!




